
 

  10	�ى ا���د 
 

�
  :1ا����
� �� ��� ��� ��� ��ة ���
د   �  :10أآ

a. 10
345

 × 10
 − 234

 

b. 10
76

 × 10
 − 678

 

c. 10
 − 780

 × 10
 − 245

 

d. 10
49

 × 10
51

 

e. 10
 − 785

  ÷ 10
 − 145

 

f. 10
49

  ÷ 10
56

 

 

g.   
2

13

10

10
 

h.  
3

5

10

10
−

 

i.  
2

3

10

10
−

−

 

j. 
7

35

10

1010 ×
 

k. 
71

2

4

1010

10

10

×
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2

6
2

6

10

10
10

10

−
×

 

m. 
( )

( )
2

74
23

6

2
35

4

10
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10

10

10
10

10
−

−

−

−

×
×

×

×  

 

:!"���
ون ا(��-�ل ا+�! ا�*�()! أ�' ا����&! ا��%��! �$�
اد ا�&  :2�
 ا����

4,123×10
4
  ;; 541×10

-1
  ;;  0,123×10

3
  ;;  21,4×10

5  
;;  34572×10

-3
 ;;  –4522×10

-2
 ;;  0,05×10

-2
 

92 × 10 
-1  

;;  245 × 10 
-2   

;; - 32  ×  10
 -4

  ;;  32,65  ×  10
- 3

 ;; 0,75 × 10 
-4

  ;; 0,75  ×  10
4  

-3 004 × 10 
-5 

 ;; - 425  ×  10
3
  ;;  0,74 × 10 

-3
  ;; -36,14 × 10 

-4 
;; - 0,0454  ×  10

5
. 

 
�
  أ��3 �2 د2��ك 0/ ا0-/ �� ��� :3ا����

1.   

10 = 10
…

 ;  
1

10
 = 10

…
 ; 100 = 10

…
 ; 

1

100
 = 10

…
 ;  0,0001 = 10

…
 ;  100000000000 = 10

… 

- 42 × 10
…

 = - 42 000   ;   2,35 × 10
…

 = 23,5   ;   - 0,03 × 10
… 

= - 0,000 03   ;  

-12 × 10
…

 = -12   ;   10
….

  × 2  =   0,000 002 ;   10
…..

 × 9,875 = 9875   ;  425  ×  10
…..

  =  4,25 ; 

4325  ×  10
….

  =  0,04325  ; 0,000 2 × 10
…

 =  2 000 000     ; - 2300  ×  10
….

  =  - 0,000 23 . 

123,45 × …….. = 123 450   ;   - 0,8 × 10
…

 = - 80 ; 8545  ×  10
….

  =  0,008545 ; 

300 000 = 3 × 10
…..

 = 30 × 10
….

 = 0,3 × 10
….. 

=  3 000 000  ×  10
…..

  ; 

4 500 = 45 × 10
…..

 = 4,5 × 10
…..

 = 0,45 × 10
….. 

=  4 500 000  ×  10
…..

  ; 

12,3456 = 1,234 56 × 10
…..

 = 123 456 × 10
…..

 =  123 456 000  ×  10
….

 

2.   

a) –3,754=-375400×10
…

                     b) 34572×10
3
=…………×10

6 

c) 0,0004=4×10
….

                                d) 0,57×10
-2

=……….×10
5
 

e) 3×10
7
=0,03×10

….
                             f) –5,21×10

4
=……….×10

-3
 

  
�
6
د ا����&! ا���-"! ��� �
د �5 ا�4
اد ا����"!  :4ا����  

12,37  ;;  –1304000  ;; 13,8×10
3
 ;;  –54,368 ;; 780000 ;;  2008 � 10� ;; 450,12 � 10
� ;;  5005×10

-3
 

3000 ;;     4,56 ;;      -1 950 ;;     -70,20 ;;   -504 000 000 ;;  - 0,000 012 ;;  5700. 

D = 0,000 000 037;; E = 58 300 000 000 ;;F = 6,2 × 10
25

 × 5 × 10
-14

 ;; G = 
135 × 10

 14

5 × 10
 -5  ;;  H = 125 × 10

 -4
.  

  
�
  : 5ا����

��3-� أن (��! ا��9ء ه�  � 10
 m/s  5 ا�%-; &ـ� 
��1و أن   Gm 150، و أن ا4رض 0)� � 10��.  
�B��C� ا��9ء ا�3�دم �5 ا�%-; 6�� �@� إ�� ا4رض  D� ��� ا�-
ة ا�E�F"! ا�D6�2.  

  

!G6H�    :� �
�

�
    I"6ــv : و !��Dا�d :و !��J3-2! ا��D-ا�t : !2�D-ا� �B"2 !�J� ��  .dا�-
ة ا�E�F"! ا�

http://www.9alami.com/   adnanemath@gmail.com  ن أآ���ط��
 ذ.�


